
COMPONENTS

INSTRUCTIONS

A

I

B

HARDWARE & TOOLS

Glass Top -1pc Long Bar -1pc

H  Connected Tube -1pc

C Secondary Bar -1pc D Short Bar - 1pc E Leg - 2pcs F Support- 2pcs G 90º Connector- 2pcs

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

Wrench - 1pc Slide Block - 2pcs   Plastic Cap - 2pcs Washer - 2pcsJ KAdjustable Glide - 2pcs L

  L Bracket - 2pcsX

M  N   Screws M8*25- 2pcs

AA  Bumper - 3pcs

O  Screws M8*12- 8pcs P  Screws M6*10- 8pcs    Allen Key(4mm) - 1pc S   Allen Key(5mm) - 1pc

               36"  Glass  Return Top
      36"  Return Aluminum Base

STEP 1

NBF-GRT3624/NBF-GRB3624

X 2

R T  Allen Key(6mm) - 1pc

Y  Screws M6*38- 5pcs Z  Screws M6*15- 1pc

Q  Screws M6*16- 8pcs

U  Allen Key(4mm) - 1pc V  Allen Key(5mm) - 1pc W  Allen Key(6mm) - 1pc

E  

I  

Three people are required to
assemble and move this model



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 2 STEP 3

STEP 5STEP 4

NBF-GRT3624/NBF-GRB3624

G

E

D

N
M  

T

S

Three people are required to
assemble and move this model

X 2
X 2

               36"  Glass  Return Top
      36"  Return Aluminum Base

O  X2



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

Right Left

STEP 6

1st

NBF-GRT3624/NBF-GRB3624

Three people are required to
assemble and move this model

               36"  Glass  Return Top
      36"  Return Aluminum Base

B

C

X  X2

O  X2

S 

1st

B

C

X  X2

O  X2

S 



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 7

STEP 8

NBF-GRT3624/NBF-GRB3624

Three people are required to
assemble and move this model

               36"  Glass  Return Top
      36"  Return Aluminum Base

Right Left

1st

B

C

K  X2

1st

B

C

K  X2

O  X2

S  

O  X2

S  



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

Right Left

STEP 10

STEP 9

NBF-GRT3624/NBF-GRB3624

Three people are required to
assemble and move this model

               36"  Glass  Return Top
      36"  Return Aluminum Base

H

Z
R

RY  X2

H

Z
R

R
Y  X2

L  X2 L  X2



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 11

STEP 12

NBF-GRT3624/NBF-GRB3624

Three people are required to
assemble and move this model

               36"  Glass  Return Top
      36"  Return Aluminum Base

Right Left

A

Foam Packing Sheet

P  X8

R  

A

Foam Packing Sheet

P  X8

R  

Do not tighten

F  

O  X2

S  

Do not tighten

F  

O  X2

S  



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

Right Left
STEP 13

STEP 14

71" Glass Desk Top

71" Desk Aluminum Base

NBF-GRT3624/NBF-GRB3624

Three people are required to
assemble and move this model

               36"  Glass  Return Top
      36"  Return Aluminum Base

S 

AA  X3

Tighten the screws

S 

AA  X3

Tighten the screws

Y  X3

R 
71" Glass Desk Top

71" Desk Aluminum Base

Y  X3

R 



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 15

NBF-GRT3624/NBF-GRB3624

Three people are required to
assemble and move this model

               36"  Glass  Return Top
      36"  Return Aluminum Base

Right Left

Use J to adjust 
the height

J

Use J to adjust 
the height

J




